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03 Al 2 THHI 2,000 0 2,000
OXt==H &4 XIS At 2,000
405 XHoHE S HI 10,800 800 10,000
01 AL EZFH S 10,800 800 10,000
Ooul=2 +¢ 400,000& »2[H 800
ogsaa 2¢ 10,000
HolSAaAE2E 22 2,797,035 2,639,822 157,213
307 glz2tol & 2,797,035 2,569,612 227,423
05 RIZHRI & 3 2,797,035 2,569,612 227,423
OHJISA2Z 22 29l 2,797,035
— M /AESH 1,571,904
— 22 AMAEKRIYI 1,225,131
S ALAZ = 353,995 258,785 95,210
301 et d = 15,000 15,000 0
09 AL HIZ &S 15,000 15,000 0
OBZHE 2 XNAXD MWK 248
100,000& *70H 7,000
O A HAX As
100,000& *80H 8,000
307 glz2tol & 198,995 193,785 5,210
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OHIIS™MelAld eX 20l 133,505
—MYI SE BOHH(2017H IIFE)
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Oulds 20lat=5 =X 2elH|
750,000& x12& 9,000
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OoJtsor &I AH(L=500m)
70,000,000& » 14! 70,000
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Oll=x=Jl 8% 1,400& *2504 350
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401 Al HIL 201 5,000 45,000 A 40,000
01 A& HI 5,000 45,000 A 40,000
O2sZ He B4 Y P22 5,000
HII2Hel 12,900 1,500 11,400
201 Yer2 2t 12,900 1,500 11,400
01 AFR2 22l Yl 5,900 1,500 4,400
OgbtgH| 4,400
—2X 2SI Myl 44 ,000& =100 4,400
ogdxs 1,500
—HJI=2 S8HOE =22 FH|
500,000& 3 1,500
02 53294l 7,000 0 7,000
03322 % MA 2,500
— XS XA 1,500
- Asx BEE= 1,000
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— S &4l 3,000
—2cldl € A2EH| 1,500
AANLUE A 1,200,000 0 1,200,000
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Al 840,000
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01 SLHO I 1,000 1,000 0
OsdiolE HMel 23 = 1,000

402 BI2FX=01 M 547,680 611,520 63,840
273,840
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191,688

= W

02 P2 TE2ALEZ(0IETHR) 547,680 611,520 A63,840
OlEXZI 3,360,000 1632+ 7 547,680
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191,688

= W
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66,440
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402 212t X201 & 132,880 0 132,880
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SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—J|&U=xe 2,354,520 x50%*4 & x2H 9,419
824 2,354,520 x50%*2 & »2H 4,710
— Mg cta | 2,354 ,520) x50%*52 x2H 11,773
—Its4 4,320

B < Xt 40,000 x12& x2H 960
=Hl & 20,000& *12& *»3H 720
= M Xk 60,000& 128 x2H 1,440
AR RS a2 100,000& *12& »1H 1,200
— SR 90,000& 128 x2H 2,160
— & 70,000& x12& x2H 1,680
— 3 HZAH| 160,000& 128 x2H 3,840
— A< 120,000& x 128 x2H 2,880
— 9 ESJH| 2,354,520 x60%*2 & x2H 5,651
— A2t 2245 15 610& #4Al 2Hx 128 »2H 1,499
— 5224 15,610 *24 Al 2t x 128 2 H 8,992
— iR EIIFY 83, 340& x20L x2H 3,334
— I =4l 950
=2 (ote) 100,000& 2 x 13| 200
Nas(s2) 100, 000& *2H x 13| 200
oF2 &7 35,000 x2H *13] 70
ESge el 70,000& x2H x 13| 140
29 70,000 *2H *13] 140
g st= 100,000 2 % 13| 200
Ostdiist(SHs) 977,501
A=) 1,763,690& x 128 x20H 423,286
—J|Z=< 2,203,690& x50%*4& »20H 88,148
—824 2,203,690& x50%*2& »20H 44,074
— Ml =& SE | 2,203,690& x50%*5& »20H 110,185
—JtEx4 17,760
i < X+ 40,0003 *12& x20H 9,600
EslE= 20,0003 «128 x14H 3,360
=M X E 60,000 x12& x6H 4,320
ATHAHE D&t 2 10,0002 x 128 x4 480
—Ex2xH 90,000& x 128 x20H 21,600
— &AL 70,000& « 128 x20H 16,800
— HHZAH| 160,000& 128 x20H 38,400
— g4 120,000& *12& x20H 28,800
— 9 E S| 2,203,690& *x60%*2& »20H 52,889
— A2t 22+Y
14,6203 4 Al 2Hx 128 20 14,036
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— I =l 9,500
NA=(5H=) 100, 000& 20 13| 2,000
o= (s2) 100,000& »20H 13| 2,000
or& =7 35,000& x20H 13| 700
ESgeagel 70,000& *20H *13] 1,400
29 70,000& x20H 13| 1,400
gtsts 100, 000& *20Y 13| 2,000
OtHDISE SR AE | 4,620
— AlH| 20,000& x22Y x2 880
— WEH| 50,000& *22H x2 2,200
— =8Hy| 40,000& *22Y x 1 880
— & 30,0008 x22H 660
QHMEYH 2H(222) 480,603
-Jl= 2,799,000 x10H x12& 335,880
— 522 101,920& *1 .5« 102 30 45,864
—NeRRLY
12,7403 *1 . 5%4 A 2% 10H » 12 9,173
—8gdg 100,000& «10¥ x12& 12,000
—AR2EALE 130,000& *10H x12& 15,600
— AX=E 101,920& «10Y¥ x 16 16,308
— Y& S| 1,678,900 10 23] 33,578
— Bt&E G 50,000& x1H ~12& 600
- JIEx4 60,000& «10¥ x12& 7,200
— I =4l 4,400
A= (o5te) 100,000& 13| x10H 1,000
o= (s2) 100,000& *13| »10H 1,000
ESgeaRel 70,000& *13| *10H 700
29| 70,000& *13|*»10H 700
gtst=s 100,000& *13| *10H 1,000
Jl =23l 149,920 133,912 16,008
DR s]l 149,920 133,912 16,008
201 Bt 39,180 35,772 3,408
01 AtSR 22l ] 39,180 35,772 3,408
OEM&Y I3l 39,180
202 04d| 104,800 93,280 11,520
01 2L Y| 104,800 93,280 11,520
O=U0 bl 104,800
203 & R =&t 5,940 4,860 1,080
04 ENSIHRF=EY| 5,940 4,860 1,080
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WEHHXZ 246,000 21,000 225,000
LHEHeH X = 246,000 21,000 225,000
701 JIEtSI A S EES 246,000 21,000 225,000
01 JIEteI HE =3 246,000 21,000 225,000
OAEA DglelgelZet =4 246,000




